Norm. Track Yield

.JOUTPUTS/Lumi6-4/HMSlyield _data LH2 Sc.csv

: y = (0.000005+ 0.000091)x + (1.002867+ 0.003371)
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JOUTPUTS/Lumi9-2/ptl/yield_data LH2 HMS_ Sc.csv

y = (0.000034 + 0.000069)x + (0.997256+ 0.002548)
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JOUTPUTS/Lumi9-2/pt2/yield_data LH2 HMS_Sc.csv

y = (0.000081+ 0.000097)x + (0.996621+ 0.003396)
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HMS LH2 Data Combined

H

y = (0.000037+ 0.000048)x + (1.000106:+ 0.001739)
../IOUTPUTS/Lumi6-4/HMS/yield_data_LH2_Sc.csv

./IOUTPUTS/Lumi9-2/ptllyield_data_LH2_HMS_Sc.csv

../IOUTPUTS/Lumi9-2/pt2/yield_data_LH2_HMS_Sc.csv
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